
BE HAVE WEAR

Fill the gaps with the correct form of BE, HAVE, or WEAR. 
Remember  
• BE (is/am/are) is used for descriptions (e.g., tall, young, wise).

• HAVE (has/have) is used for possession (e.g., eyes, siblings, pets).

• WEAR (wears) is used for clothing and accessories (e.g., suit, dress, shoes).


Fill the gaps with the correct form of BE, HAVE, or WEAR. 
1. My best friend ____________________ tall and slender.

2. She ____________________ beautiful green eyes.

3. He ____________________ a suit and tie to work every day.

4. My mom ____________________ three siblings.

5. The famous actor ____________________ a charming smile.

6. My sister's hair ____________________ long and straight.

7. On special occasions, she ____________________ elegant 

dresses.

8. The athlete ____________________ strong and muscular.

9. He ____________________ two dogs and a cat.

10. My grandmother ____________________ wise and kind.

11. The model ____________________ high-heeled shoes on the 

runway.

12. My brother ____________________ short, spiky hair.


Mixed-up Sentences 
1. hair / has / brown / She ___________________________.

2. young / is / He ___________________________.

3. wears / a / suit / My father ___________________________ to work.

4. has / two / brothers / Mario ___________________________.


Look at the picture on the right and fill in the gaps with Be Have and Wear. 

The girl on the left [Susan] ___________ long blond hair. 
She ___________ medium height and ___________ a 
long, black skirt. Her boyfriend [Mario] ___________ tall 
and he ___________ jeans and a sweater. They 
___________ a couple and will get married soon. The 
other couple ___________ been together for five years. 
Her name ___________ Maya and she ___________ 
long, black curly hair. She ___________ thin and always 
___________ jeans. Her boyfriend, Kevin, ___________ 
an engineer and he ___________ short hair. He 
___________ a mustache and always ___________ his 
black sweater. Susan ___________ glasses when she 
reads. Kevin ___________ Susan’s brother. The four of 
them ___________ been friends for many years and will 
get married on the beach in Spain. Life ___________ 
good.
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Fill the gaps.



Teacher’s Key 
Fill the gaps with the correct form of BE, HAVE, or WEAR. 
1. My best friend is tall and slender.

2. She has beautiful green eyes.

3. He wears a suit and tie to work every day.

4. My mom has three siblings.

5. The famous actor has a charming smile.

6. My sister's hair is long and straight.

7. On special occasions, she wears elegant dresses.

8. The athlete is strong and muscular.

9. He has two dogs and a cat.

10. My grandmother is wise and kind.

11. The model wears high-heeled shoes on the runway.

12. My brother has short, spiky hair.


Mixed-up Sentences 
1. She has brown hair.

2. He is young.

3. My father wears a suit to work.

4. Mario has two brothers.


Look at the picture on the right and fill in the gaps with Be Have and Wear. 
 
The girl on the left [Susan] has long blond hair. 
She is medium height and wears a long, black 
skirt. Her boyfriend [Mario] is tall and he wears 
jeans and a sweater. They are a couple and will 
get married soon. The other couple has been 
together for five years. Her name is Maya and she 
has long, black curly hair. She is thin and always 
wears jeans. Her boyfriend, Kevin, is an engineer 
and he has short hair. He has a mustache and 
always wears his black sweater. Susan wears 
glasses when she reads. Kevin is Susan’s brother. 
The four of them have been friends for many years 
and will get married on the beach in Spain. Life is 
good.
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